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I. Not Missing the Boat Questions

1) Why should you not use an 7770 77170 22 20K?

2) May Reuven use an *Xn7 5w 2nxk? What'’s the basis/reasoning for the 1°7?

3) Why shouldn’t Reuven use an 1w qwyn > 20K even if he’s currently in 2°%w17°?

4) If an 270X developed a n°11, is the 270X invalid? What'’s the reasoning/basis for the 177

5) (Based on *"w1) What exactly does 1nnud 17711 mean?

6) (Based on *"w) If some or all of an 2nX’s 19797 is peeled off, is the AnX invalid? What’s the
reasoning/basis for the 17?

7) (Based on X 3/°"w1) How big of a 21 must an 210X have in order for it to be 7109? Must the
31nK be 7om for the 2p1 to be problematic?

II. nw7 that Emerge from the 07 Questions

1) Is it permissible to cause 7m0 to become XPY? (Based on *"w1) What’s the mpn for the 177?

2) Who is permitted to eat "xn7? Why?

3) (Based on *"w") Is it permissible to cause "1w 1wy to become Xnv? What’s the Mpn for the
7?
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III. The npown List with Questions
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- What are the 20" and v of the 217nR, and where on the 210X are they located?
- MWW to consider:
ST APy M
R rafivisreie
- N2
- oW
- 0" awa MY
- DYWIX11°27 awa MY
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- According to X111 1127, if some or all of an 21nR’s 19°9p is peeled off, is the 2nK
invalid? What’s the reasoning/basis for the 177
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